10120 (Kloalog)

Linearized knot diagam

@m\ e

B 5 9 6 2 8 10 4 1 7 3
:s@ 7

Solving Sequence
—’ 15— 28 —
0 —> 2, — 6 —>9—>4—>3 —T7— 10 —>> C2,C4,C9
A knot diagranﬂ 1 Cs C8 Cq c3 cr (10 ’

Ideals for irreducible component#ﬂ)f Xpar

It = (—ub = —2u* —u® = +b—u+1,
—u'® = 3u” — 8u® — 130" — 19u® — 20u° — 19u* — 13u® — Tu? + 2a — 2u + 2,
utt 4 3ut0 + 8u® + 13u® + 19u” 4 2208 + 2105 + 17u* + 9u® 4 4u? — 2)
I = (—u'" — ! 4 4 b — 13, —13u'” — 60u'® + -+ 5a+ 4, u'® + 50!+ 427U+ 5)
Iy = (=3u" + 116" — 29u° 4 50u® — 661" + 7T1u® — 59u° + 43u* — 22u® — au + Tu® + b — 4u,
3ut®a 4+ utt + -+ 4da — 4, u'? — 3ut +8u'® — 1307 + 18u® — 210" + 19u® — 170’ + 10u* — 60> + 4u? + 1
I ={(—au+uv*+b—u+1, —va+a®>+u?—a+1, u* —u?+2u—1)
=@ +b—u+1, v>*+a+1, vd—u?+2u—1)
I = (u® — 40’ + 8u* — 11u® + 9u? + b — 5u+ 3, —3u” + 12u’® — 25u° + 34u* — 290> + 17u® + 2a — Yu + 2,
u® — 4u” + 9u® — 14u® + 15u* — 13u® + 9u? — 4u + 2)
I¥=(—au+b+u—1,a*>—au—1, u> —u+1)

* 7 irreducible components of dime = 0, with total 74 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

LIF=(—u—vu" —2u*—ud—u?’4+b—u+1, —u'®—3u?+..--+2a+
2, u'l 4+ 3ul® 4 ... 4 4u? — 2)

(i) Arc colorings

a0
!
@)

a5 =
[

L.,
U
u6—|— 2u +ud+ui+u—1

+3u 4 u—1
ag =

%u10+3u9_~_ + 121 3+5U2
ub 4 u® + 2ut 4 ud 4 u? +u—1

_|_
u
u3+u

—%ulo 3u9+ +u+1
—u5—2u —ud—u?2—u+1
é10+5U9+ +%u2_1
—ul0 — 3¢9 — 7u® — 110" — 1408 — 15u® — 12u* — 8ud — 3u?2 + 1

ag =
ayq =

a3: —u

;104_ S L2y
as = \u? + 2ud + 5u’ + 6u® +8u +7u4+5u +3u+u—1

a7 =
—%ulo— %u9+~-~+u—1
a10 = \ —u? — 2u® — 5u” — 6u® — 8u® — Tut — Hud — 3u? +1
(ii) Obstruction class = —1

(iii) Cusp Shapes = —2u® — 6u” — 14u® — 18u® — 24u* — 18u® — 16u? — 6u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
14, G ul? — 3ul® 4 8u? — 13u® + 1907 — 22u° + 210° — 17u* + 9u® — du? + 2
Co
Co,C7 w5 10w+ 4
€3,C5, C8 ult + 4u® + 0B + 110" + 408 + 1505 + 3ut 4+ 9ud — w4+ 2u+1
€10




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C4,Ce ytt A Ty0 4+ 416y — 4
Cg
Ca, C7 y't =5y + - 4+ 60y — 16
C3,C5,Cs y11+8y10++6y—1
€10




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.955959 + 0.1819161
a = —0.517203 — 1.1037801
b= —0.695220 — 0.9610791

—0.51987 — 4.747211

—10.74299 + 5.171661

uw = —0.955959 — 0.1819161
—0.517203 + 1.1037801
b= —0.695220 + 0.9610791

—0.51987 4 4.747211

—10.74299 — 5.171661

0.104833 + 1.0647701
a = —1.051120 — 0.6093261
b= —0.538602 + 1.1830801

u =

5.39093 — 0.523361

—2.07555 — 0.881551

0.104833 — 1.0647701
a = —1.051120 + 0.6093261
—0.538602 — 1.1830801

u =

5.39093 + 0.523361

—2.07555 4 0.881551

0.375570 + 1.0422701
0.289036 + 0.4515071
0.362037 — 0.4708241

2.05520 — 3.238781

—8.62571 4 3.688121

0.375570 — 1.0422701
= 0.289036 — 0.4515071
= 0.362037 + 0.4708241

2.05520 + 3.238781

—8.62571 — 3.688121

= —0.641442 + 1.1596601
—0.736546 4 0.4845691
0.089483 + 1.1649601

6.47745 + 4.308381

—1.34168 — 3.930561

—0.641442 — 1.1596601
—0.736546 — 0.4845691
0.089483 — 1.1649601

6.47745 — 4.308381

—1.34168 + 3.930561

—0.58305 + 1.341411
1.128180 + 0.2084451
0.93740 — 1.391821

6.7235 4+ 16.27141

—5.72276 — 8.852811

—0.58305 — 1.341411
= 1.128180 — 0.2084451
= 0.93740 + 1.391821

6.7235 — 16.27141

—5.72276 + 8.852811




Solutions to I}

V=1(vol + y=1C)

Cusp shape

u = 0.400093
a= 0.775290
b= —0.310188

—0.775978

—12.9830




II. 1Y =
(—u!"—Tu'®+...+b—13, —13u'"—60u'S+. . -+5a+4, u'®+5ul"+- . - +27u+5)

(i) Arc colorings

o ()

0
as = U
1
ag = ’LL2
13,17 16 77 4
2ulT 4+ 12010+ 4 Hu - 2
ag = W+ e+ Tlu+ 13
Lyl 1t - 220y, 82
ag = —3u® —13u' + .- —50u—11
%u”—i—iﬁum-&--“—%%U—65*9
ag = W+ Tul o Tlu 413
u
as = \ud+u
fulT +8ul0 4 4 By + B
a3 = \ —3u!'" —16u'® + .- —62u — 11
Bl +13ul0 4 4 Ty — £
ay = u'® +5ul® + -+ 420+ 8

3007 4 ul6 4.~ 130, _ 2
ao =\ —u'" —4u® 4. +16u+4

(ii) Obstruction class = —1

(iii) Cusp Shapes
= 2607 + 130u!® + 415u® + 871w + 1236u3 + 1002u!? — 275ult — 2187410 —
356212 — 3091u8 — 569u” + 2567u’ + 4603u’ + 4614u? + 3181u + 1560u? + 486w + 63



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, ¢4, C6 ut® —5ulT 4 — 2T+ 5
Cg
2, C7 (u® — 2u® + 4u” — 5uS + Tu® — 5ut + 3ud — 2u® +u — 1)2
€3,65,C8 u® —ul 4 4 3u+1
€10




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,Ce y18+9y17+---+61y+25
cy
¢, 07 (y° + 4y® + 10y + 175 +179° +y* — 792 — 8% — 3y — 1)?
€3,C5,C8 y 4+ oylT 4. 443y +1
€10




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C5)

Cusp shape

u = —0.198527 4 0.8271181
a = —0.81586 — 1.289491
b= —1.228530 + 0.4188131

—1.04793 + 1.110071

—17.5535 — 4.78671

u = —0.198527 — 0.82711871
a = —0.81586 + 1.289491
b= —1.228530 — 0.4188137

—1.04793 — 1.110071

—17.5535 + 4.78671

u = —0.079308 + 0.8361771
a= 1.38823 +0.308341
b= 10.367922 — 1.1363501

4.23983

—2.85705 4 0.1

u = —0.079308 — 0.8361771
= 1.38823 — 0.308341
0.367922 + 1.1363501

4.23983

—2.85705 4 0.1

—1.156420 + 0.1025761
0.521985 + 0.8907051
0.694998 + 0.9764841

2.81259 — 10.168401

—7.74812 + 7.648671

—1.156420 — 0.1025761
0.521985 — 0.8907051
= 0.694998 — 0.9764841

2.81259 4 10.168401

—7.74812 — 7.648671

= 1.160130 + 0.2291571
0.035605 — 0.1583001

—1.04793 — 1.110071

—17.5535 4 4.78671

1.160130 — 0.2291571
0.035605 + 0.1583001
—0.077582 — 0.1754891

—1.04793 4 1.110071

—17.5535 — 4.78671

—0.311796 + 1.2052101
0.814403 — 0.0743151
0.164362 — 1.0047001

4.26456 — 0.699841

—4.65022 + 1.899781

—0.311796 — 1.2052101
= 0.814403 + 0.0743151

b
U
a
b
U
a
b
U
a
b= —0.077582 + 0.1754891
U
a
b
U
a
b
U
a
b= 0.164362 + 1.0047001

4.26456 + 0.699841

—4.65022 — 1.899781
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.369880 + 1.2291901
1.216830 + 0.4597531
1.01520 — 1.325661

8.30021 + 4.388551

—1.11965 — 3.687001

—0.369880 — 1.2291907
= 1.216830 — 0.4597531
= 1.01520 + 1.325661

8.30021 — 4.388551

—1.11965 + 3.687001

= —0.642487 + 0.1998691
1.21195 — 1.143481
= 0.550112 — 0.9769041

4.26456 4 0.699841

—4.65022 — 1.899781

= —0.642487 — 0.1998691
= 1.21195+ 1.143481
0.550112 + 0.9769041

4.26456 — 0.699841

—4.65022 + 1.899781

= —0.545158 + 1.2531801
= —1.229130 — 0.2304871
= —0.95891 4 1.414661

2.81259 4 10.168401

—7.74812 — 7.648671

= —0.545158 — 1.2531801
= —1.229130 + 0.2304871
= —0.95891 — 1.414661

2.81259 — 10.168401

—7.74812 + 7.648671

= —0.35655 + 1.509921
= —0.544015 + 0.1101981
= —0.027580 + 0.8607091

8.30021 — 4.388551

—1.11965 + 3.687001

= —0.35655 — 1.509921
= —0.544015 — 0.1101981
= —0.027580 — 0.8607091

8.30021 + 4.388551

—1.11965 — 3.687001
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IIL I =
(=3u't+11u%+. . .+b—4u, 3ula+u'l+---+4a—4, u'?—-3ur+.. - +4u?+1)

(i) Arc colorings

e ()
o ()
)

[

a
3ult —11u'% + - -+ au + 4u>

3u11a—u11—|— —4u—1>

ag =

ag =

3ull + 11u10+ +a—4u

(
(4
(
(
ag = (3u — 11w + - +au+4u)
e
(o
(o

aq =

ud Jru)

2u11a—|—u11 +--—a+2
a+ 4ua + - —2a—|—1

—u11+5u10+ +a+2>

az =

ar = \2uM" —7u!0 4+ .. 4 qu + 2u
wla—ull 4+ 4+a-2
a10 =\ —u"a+ uba + - —|—a—|—1
(ii) Obstruction class = —1

(iii) Cusp Shapes
= 4!t — 16u10 4 44u° — 80u® + 112u” — 12440 + 116w® — 92u* + 60u® — 28u2 + 8u — 18
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,Cp (u12+3u11+_“_’_4u2+1)2
cy
c2,Cr (u'? +u'® — 6u® + 10u® — 2u™ 4 2u8 — 2u? + 2u% + 1)?
C3,C5,Cs u24_3u23_’_”._4u2+1
€10
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,Cp (y12+7y11+'+8y+1)2
cy
ca,c7 (Y™ +2y™ 4 Ay + 1)
C3,C5,C8 y24—11y23+~“—8y+1
€10
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1C)

Cusp shape

u = —0.234552 + 1.0020201
a= 0.647681 + 0.2989551
b= 2.11054 + 0.486641

3.72285 4 6.965511

—5.97171 — 10.574401

u = —0.234552 + 1.0020201
0.00700 + 2.104651
b= 0.451474 — 0.5788681

3.72285 + 6.965511

—5.97171 — 10.574401

u = —0.234552 — 1.0020201
a= 0.647681 — 0.2989551
b= 2.11054 — 0.486641

3.72285 — 6.965511

—5.97171 4 10.574401

u = —0.234552 — 1.0020201
0.00700 — 2.104651
0.451474 + 0.5788681

a =

3.72285 — 6.965511

—5.97171 4 10.574401

1.090290 + 0.1404601
—0.240626 — 0.2916101
= —0.401743 + 0.0038341

—1.05784 — 1.082631

—14.2815 + 5.62761

1.090290 + 0.1404601
= 0.362012 — 0.0501531
0.221393 + 0.3517391

—1.05784 — 1.082631

—14.2815 + 5.62761

1.090290 — 0.1404601
—0.240626 4 0.2916101
—0.401743 — 0.0038341

—1.05784 4 1.082631

—14.2815 — 5.62761

1.090290 — 0.1404601
0.362012 + 0.0501531
0.221393 — 0.3517391

—1.05784 4 1.082631

—14.2815 — 5.62761

—0.185688 4 0.8176661
—0.762192 — 0.9038191
—1.44128 4 0.183211

—1.05784 4 1.082631

—14.2815 — 5.62761

—0.185688 4 0.8176661
—0.59374 — 1.627831
—0.880553 4+ 0.4553901

b
u
a
b
u
a
b
u
a
b
u
a
b
w
a
b
u
a
b

—1.05784 4 1.082631

—14.2815 — 5.62761
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.185688 — 0.8176661
= —0.762192 + 0.9038191
—1.44128 — 0.183211

—1.05784 — 1.082631

—14.2815 + 5.62761

—0.185688 — 0.817666.1
—0.59374 + 1.627831
—0.880553 — 0.4553901

—1.05784 — 1.082631

—14.2815 + 5.62761

0.529049 + 1.2453601
0.970902 — 0.0518107
0.692981 + 0.7375891

2.26979 — 4.558131

—9.74676 + 1.770491

0.529049 + 1.2453601
—0.701975 + 0.2582401
—0.578176 — 1.1817101

2.26979 — 4.558131

—9.74676 + 1.770491

0.529049 — 1.2453601
0.970902 + 0.0518107
0.692981 — 0.7375891

2.26979 4 4.558131

—9.74676 — 1.770491

0.529049 — 1.2453601
—0.701975 — 0.2582401
—0.578176 + 1.1817101

2.26979 4 4.558131

—9.74676 — 1.770491

—0.251512 + 0.4497401
0.04323 + 2.163081
0.800711 — 0.8842081

2.26979 — 4.558131

—9.74676 + 1.770491

—0.251512 + 0.4497401
2.25611 + 0.518681
0.983696 + 0.5246001

2.26979 — 4.558131

—9.74676 + 1.770491

—0.251512 — 0.4497401
0.04323 — 2.163081
0.800711 + 0.8842081

2.26979 4 4.558131

—9.74676 — 1.770491

= —0.251512 — 0.4497401
2.25611 — 0.518681
0.983696 — 0.5246001

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
|

2.26979 4 4.558131

—9.74676 — 1.770491
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Solutions to I3

V=1(vol + y=1C)

Cusp shape

= 0.55241 4 1.407481
0.767735 — 0.3707841
0.486934 + 1.0370801

3.72285 — 6.965511

—5.97171 4 10.574401

0.55241 + 1.407481
= —0.756136 + 0.0491901
—0.945979 — 0.8757481

3.72285 — 6.965511

—5.97171 4 10.574401

0.55241 — 1.407481
0.767735 + 0.3707841
0.486934 — 1.0370801

3.72285 4 6.965511

—5.97171 — 10.574401

0.55241 — 1.407481
—0.756136 — 0.0491907
—0.945979 +4- 0.8757481

u
a
b
u
a
b
u
a
b
u
a
b

3.72285 4 6.965511

—5.97171 — 10.574401
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IV. I} =(—au+uv?*+b—u+1, —v?a+a*+u?—a+1, v> —u?+2u—1)

(i) Arc colorings

e ()
|
)

a5 =
a9 =

au—u2+u—1>
w?a + au + u? aqul)

(
(v
(
= 1
C
(v
(-
(-

ag =

au + u? —|—a—u—|—1
ag =

au —u? 4+u—1

u? —u+1)

20u — a
au+u?—u+1

ua—au—l—u +a—u >

ay4 =
az =

ar = wa+au—2ut+u—1

u? +u
a0 = \—au+a—2u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes = —8u? + 8u — 14

18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, ¢4, G (u® +u® + 2u+ 1)
cy
ca,ycr u® + 5u® + 16u* + 28u® + 30u® + 18u + 5
€3,¢s,C8 ub —ud + 2ut 4+ 203 + 4 + 2u+1
€10
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,Cp (y3+3y2+2y_1)2
cy
¢, 07 y® + Ty® + 36y + 69> + 52y% — 24y + 25
€3, 5, C8 Y% +3y° +16y* + 18y° + 1292 + 4y + 1
€10
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape

u = 0.215080 4 1.3071401
a= 0.594305 — 0.1232401 7.69319 — 5.656241 1.01951 + 5.958891
b= 1.16635+ 1.495201

u = 0.215080 + 1.3071401
a = —1.25666 + 0.685521 7.69319 — 5.656241 1.01951 + 5.958891
b = —0.288915 — 0.7503351

u = 0.215080 — 1.3071401
a= 0.594305 + 0.1232401 7.69319 + 5.656241 1.01951 — 5.958891
b= 1.16635 — 1.495201

u = 0.215080 — 1.3071401

a = —1.25666 — 0.685521 7.69319 + 5.656241 1.01951 — 5.958891
b = —0.288915 4 0.7503351

u = 0.569840

a= 0.662359 4 0.941275] | —0.581975 —12.0390

b= —0.377439 4 0.536376.1

u = 0.569840

a= 0.662359 — 0.941275] | —0.581975 —12.0390

b= —0.377439 — 0.5363761

21



V.I!=W+b—u+1,u?>4+a+1, ud—u?24+2u—1
5

(i) Arc colorings

o= (o)

0
a5: u
1
ag = U2
—u? -1
ag = \—u?+u—1
-1
ag = 0
—u
ag = \—u?+4+u—1
u
g = \y? —u+1
w? +1
az = \u2—u+1
-1
a7 = —u?

(ii) Obstruction class =1

(iii) Cusp Shapes = —8u? + 8u — 20
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
c1,Cq wWeuw+2u—1
€2, €4, C7 ud +u? +2u+1
Co
€3,Cs5,C8 W21
C10

23



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cyq y3+3y2+2y_1
Ce6, C7, Co
C3,C5,Cs y3_y2+2y_1
€10

24



(vi) Complex Volumes and Cusp Shapes

Solutions to I¢

V=1(vol + y/=1C)

Cusp shape

0.215080 + 1.3071401

a= 0.662359 — 0.5622801 6.04826 — 5.656241 | —4.98049 + 5.958891
b= 0.877439 + 0.7448621
uw=0.215080 — 1.3071401
a 0.662359 + 0.5622801 6.04826 4 5.656241 | —4.98049 — 5.958891
b= 0.877439 — 0.7448621
= 0.569840
a = —1.32472 —2.22691 —18.0390
b= —0.754878

25



VL I¥ = (u® — 4u® 4 8u* — 11u® + 9u? + b — 5u + 3, —3u” + 12u® 4 -.

2a+2, ud —4u” + - — 4u + 2)
(i) Arc colorings
1
ayp = O
0
a5 = U
1
a2: u2
%u7—6u6+-~-—|—%u—1
ag = \ —y8 + 4u® — 8u* + 11u® — 9u? + 5u — 3
%u7—3u6—|—--~—|—%u—4
ag = \ —u” 4+ 3u’ —5u® +6ut —4ud + 3w —u—1
%u7—5u6+---—%u+2
a9 = \ —b + 405 — 8u* + 11u® — 9u2 + 5u — 3
u
as = \yd+u
f%u7+2u°+~~—§u+l
as = w—u+1
%u7—6u6+---—|—%u—|—1
a7 = \ —u” +2ub —2u® +3ud — 20 +2u—1

Tu"—2uS -+ 3ut 1
a10 =\ —u* +2u® —3u?+2u—1

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u” + 16u’ — 43u® + Tlu* — 82u3 + 68u? — 40u + 20

26



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq u® —4u” + 9ub — 144® + 15u? — 130> + 9u? —4u + 2
2,7 (ut —u? 4+ u? +1)?
€3,C5,C8 u® —2u” +3u® — 3ut +3u® —u+1
C10
c1, o u® + 4u” + 9u® + 14u® + 15u* + 13u® + 9u® + 4u + 2
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,Ce y8 + 2y7 _ y6 _ 12y5 _ 5y4 + 25y3 + 37y2 + 20y +4
cy
Ca, C7 (W + 9>+ 32 + 2y +1)2
€3,C5,C8 y8—4y7+6y6—3y5+7y4—12y3+3y2+5y+1
€10
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(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape
= 0.192965 + 0.8703421
= —0.81301 + 1.448221 —0.732875 — 0.9914781 | 5.28161 — 3.59996.1

= —1.41733 — 0.428141

= 0.192965 — 0.8703421
= —0.81301 — 1.448227] —0.732875 4 0.9914781 5.28161 + 3.599961
= —1.41733 + 0.428141

= —0.138557 + 0.7675221
= 0.066843 — 1.4097801 3.20028 4 5.629381 | —5.78161 — 5.278511
= 1.072770 + 0.2466391

= —0.138557 — 0.7675221
= 0.066843 + 1.4097801 3.20028 — 5.629381 | —5.78161 + 5.278511
1.072770 — 0.2466391

1.354460 + 0.2505321
0.008624 + 0.3929911 | —0.732875 — 0.9914781 5.28161 — 3.599961
—0.086775 + 0.5344501

1.354460 — 0.2505321
0.008624 — 0.3929911 | —0.732875 4 0.9914781 5.28161 + 3.599961
= —0.086775 — 0.5344501

= 0.59113 4 1.353171
= —0.762459 + 0.0871661 3.20028 — 5.629381 | —5.78161 + 5.278511
= —0.568666 — 0.9802131

= 0.59113 — 1.353171
= —0.762459 — 0.0871661 3.20028 4 5.629381 | —5.78161 — 5.278511
= —0.568666 + 0.9802131
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VIL. I = (—au+b4+u—1,a*—au—1, u* —u+1)

(i) Arc colorings

e ()

= (0)
w=(ut)
ag = ( u—u—|—1>
fau+a7u
ag —
—aut+a+u—1
ag = au—u—+1
= ()
—au+a+u
az =
a+u
a7 =

—2au + a
a0 =\a—u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 8u — 14
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, ¢4, Ce (u? +u+1)°
Cg
4
Co,C7 (u - 1)
€35, C8 ut —u? 4+ 2u® —2u+1
€10
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4,Cp (y2+y+1)2
cy
2, C7 (y—1)*
C3,C5,Cs y4+3y3+2y2+1
€10

32



Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.500000 + 0.8660251
= —0.692440 + 0.3181481
= —0.121744 — 1.3066201

1.64493 — 4.059771

—10.00000 + 6.928201

= 0.500000 + 0.8660251
= 1.192440 + 0.5478771
= 0.621744 + 0.4405971

1.64493 — 4.059771

—10.00000 + 6.928201

0.500000 — 0.8660251
= —0.692440 — 0.3181481
= —0.121744 + 1.3066201

1.64493 + 4.059771

—10.00000 — 6.928201

= 0.500000 — 0.8660251
= 1.192440 — 0.5478771
= 0.621744 — 0.4405971

1.64493 + 4.059771

—10.00000 — 6.928201
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VIII. u-Polynomials

Crossings u-Polynomials at each crossing
(u? +u+ 1% —u? 4 2u — 1) (u® + u? 4+ 2u + 1)?
1, G (u® — 4"+ 9ub — 1465 + 15u* — 130> + 9u® — du + 2)
(= 3u0 4 8u? — 13u® + 190" — 22u° + 210 — 17ut 4 9ud — 4u? + 2)
(W 3ut 4 D)D) (W = 5ul T = 27w+ 5)
(w—D)*(u® +u? +2u+ 1) (u* —u® +u? 4+ 1)?
Coy 7 - (ub + 5u® + 16u* + 28u® + 30u® + 18u + 5)
(u? = 2u® + 4u” — 5uS + Tu® — 5ut + 3u® — 20 4 u —1)?
(w4 5u1° + oo+ 10u + 4)
(' ut® = 6u® + 10u® — 207 + 2u® — 2ut + 2u? +1)2
s 5 (u +u? — D (u* —u® 4+ 2u® = 2u + 1) (u® —u® + -+ 2u+1)
10 c(u® = 2u" + 3u’ — 3ut +3u? —u+1)
(utt 4 40 4 u® 11T 4 40 4 156 4 3ut - 9ud — w4 2u 4 1)
=T Bu ) (Wt = 3uP 4 — 4w 1)
(u? +u+ 12w 4+ u? + 2u + 1)3
€4, (u® 4 4u” 4+ 9ub + 1465 + 15u* + 130 + 9u® + du + 2)
(= 3ut0 4 8u? — 13u® + 190" — 22u° + 210 — 17ut 4 9ud — 4u? + 2)
(W 3ut 4 D)D) (W = 5ul T = 2Tu £ 5)
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IX. Riley Polynomials

Crossings Riley Polynomials at each crossing

(V> +y+ 1" +3y° +2y — 1)°

C1,C4,Ce

o (4 + 29" —y® —12y° — 5y + 255° + 37y + 20y + 4)
Sy ATy 16y — (P Ty 8y 1)°
(Y + 9y 4+ 61y +25)
(y = Dy° +3y° +2y = D(y* +4° +3y° + 2y +1)°
€2, €7 (Y8 + Ty® + 36yt + 6y + 52y% — 24y + 25)

(0 +4y® +10y" +1Ty0 +1Ty7 -yt - Ty - 8y” — 3y — 1)°
Syt =5y 4 460y — 16) (¥ + 2yt 4 Ay + 1)2
(v° —v* +2y = 1)(y" +3y° + 2y + 1)

€3,C5)C8 y® + 3y° + 16y* + 18y® + 12y + 4y + 1)

C10

(
Sy =4y +6y5 — 30 + Tyt — 1203 + 37 + 5y + 1)
Sy 8y by = (Y 9y 43y 1)
Syt 11y 4~ 8y + 1)
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